H & 0l & AHS B Ml A

20238 =0ila LEHSIH Al
A SAID
T OHRIER SADNE
o9l BN AR (cie) 29
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AT 1,197,392 4,597,151 A3,399,759
= 15,000
= 1,182,392
DlcHRISEE AR 945,221 4,356,570 A\3,411,349
[ 15,000
[Ea 930,221
SEH Al 519,462 3,116,880 A2,597,418
= 15,000
s 504,462
G.B2IKI&AAS 96,900 95,200 1,700
201 er23 | 9,500 8,400 1,100
01 At2teltl 9,500 8,400 1,100
Odt+=ZH| 2,200
odggd ¢ 200,000 200
O M+ el g2tet £X
2,000,000& 2,000
ogxz 4,000
OsdgAE=E E3l itz
500,000 x2CH*43] 4,000
O HStRHH=EREF U= 2,400
ot = 80,0002 x8H *13] 640
Oetd gt 50,0002 x8H +23] 800
OZ 40,0002 x8H+23] 640
OZXt 20,0003 x8E »23] 320
OMLMe7S =2 TI=HI(S2RA) 900
ot = 80,0002 x3E *13] 240
Oetd gt 50,0002 x3E #23] 300
OZ 40,0002 x3EH*23] 240
OZXt 20,0002 3 »23] 120
202 04| 4,200 4,200
01 =LHOLI 4,200 4,200
o220l 4,200,000 4,200
204 2Rt AH 13,200 12,600 600
03 S F3H 13,200 12,600 600
otfel syl 50,0008 x22H «12& 13,200
401 AIEHIX SO 70,000 70,000
01 AlZH| 69,400 69,400
OMLHERS XJAMY AEE RAEx
69,400,000& 69,400
03 Al 20HHI 600 600 0
OAIZ 20l 600,000 600
N HIBt S 22| X2 50,402 19,680 30,722
s 15,000




A SAID
S DlXES ZAIDHE
el 288 A2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o 35,402
101 @1A4H| 32,722 32,722
04 JIZtN2Z2 XS 2+ 32,722 32,722
OoAYAHR JI=E= B 7= 32,722
OJlEZ=s 76,9602 x2H 1282 19,702
OFg=g 76,9608 x2& »562 8,620
OulSH| 5,0003x2& 128 1,280
OF=F=1{:] 5,000& x2& =128 1,280
OIEse 1,440
BH <> Xt 40,0002 x2H 604 480
. EHIE 80,0002 x2EH+6H & 960
Og &= Itd| 400,0003 x1E*13] 400
201 fer=3| 17,680 12,640 5,040
[ 15,000
s 2,680
01 At2t2l] 15,000 9,960 5,040
oggt=ZH] 8,600
OZAHEA &X, M, 2+
2,000,000& 2,000
= 2,000
OJf&Het=e oLl &ztet X1, wH, 2
= 3,600,000& 3,600
= 3,600
Of&Het=s el E2=2 HA
3,000,000& 3,000
s 3,000
©G.B. HH22X =l
8,000 +x8Z*1041+10& 6.400
= 6,400
02 s3=gHl 2,680 2,680 0
OA&EHIS X 2,680
ORI #ER(EE) SHEE
70,0002 %20 x 122 1,680
ORHIHEX(EE) B&/=+2l
500,000& 27| 1,000
SEMX 28 T2 SEHE SAHASEI) 302,160 2,700,000 A2,397,840
401 AIEHIZ SR THYI 302,160 2,700,000 A2,397,840
01 AlZ8| 300,000 2,694,000 A\2,394,000
O3 A 300,000,000 300,000
03 Al 20HHI 2,160 6,000 A\3,840
OAIZ 20l 2,160,000 2,160
g d=0t= SSHEE & F) EXSM 70,000 300,000 A.230,000
401 AIZHIZ SO 70,000 300,000 230,000
01 Al&H| 70,000 300,000 /230,000




A SAID
IR DRAKIER SAHE
el 228 EA2d (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
|| o2 70,000, 0002 70,000
OIHXIES CAIAE 425,759 1,239,690 /813,931
SAIAE XS ALS 255,109 204,600 50,509
101 @124H| 30,509 0 30,509
MU IIRIMZZENSES 30,509 0 30,509
OSANE IS B II=S 75 30,509
OJlzs 76,9602 x2H *122 18,779
Oxg=g 76,9603 x23 51 7,850
OusH| 5,000& x2&»122& 1,220
o3| 5, 00021422 +1222! 1,220
Od=+g 1,440
HH < K¢ 40,0002 2H+6H = 480
&l 80,0003 x2S +6IH 2 960
201 Ler23| 50,400 50,400
01 At2teltl 50,400 50,400
O AR 2SN
50,400,000 50,400
202 048l 4,200 4,200
01 =LHOHI 4,200 4,200
o220l 4,200,000 4,200
401 AlEHIZ SO 170,000 150,000 20,000
01 Al&ZHI 170,000 150,000 20,000
ogRIzel AN ZH| 2
100,000,000 100,000
OFIIDITY SAHHANLTH X S
S ERCEL 70,000, 0008 70,000
CAIAEZEHAIE 60,650 70,680 210,030
201 et 3| 47,650 57,680 210,030
01 At22t2l] 47,650 57,680 210,030
CEERSS 33,120
O AL &a+T
70,0002 * 162 *123] 13,440
OSAHNHSIARSE BH4+L
100,000 «8& *123] 9,600
OZSHAH BT
70,0002 x 12 %122 10,080
CHETEE=T] 14,530
O A& MR RIZ
9,000,000& 9,000
OZTEIH S 428 7Y
5,530,000& 5,530
203 g4l 13,000 13,000
03 A=A R =] 13,000 13,000




2M: SAD
S DlXES ZADHE
Rl OlcHAIE S ZAIHE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZAHEZE AHLS =2 (27)
7,500,000& 7,500
OZAIHEZE AMYSR =T ()
5,500,000 5,500
N2 X2 A 110,000 964,410 A854,410
201 2= 10,000 10,000 0
01 At22t2lt] 10,000 10,000 0
OJgeel ot EEE M
10,000,000 10,000
207 ARl 100,000 250,000 A150,000
01 A1E4H| 100,000 250,000 150,000
Ofale & JS =5 A
50,000,000 50,000
O=4 N 55 XA
50,000,000 50,000
HY2HZHI(ZAID) 252,171 240,581 11,590
IARAHH|(ZAID) 146,374 137,487 8,887
QA2 (T AID) 146,374 137,487 8,887
101 @1A4H| 146,374 137,487 8,887
01 2= 146,374 137,487 8,887
OAIZIRI 2R
12,3213 %45 222 » 123 146,374
JlE2ZHI(SAIL) 105,797 103,094 2,703
JlE2ZHI(ZAIL) 105,797 103,094 2,703
201 2egh=3| 40,097 39,794 303
01 At2telt] 40,097 39,794 303
Oggt+==H| 10,145
OsHM =S 10, 145,000& 10,145
©=E] 8,000 x24 & » 1341+ 12 29,952
202 04| 57,600 55,200 2,400
01 =LHOLI 57,600 55,200 2,400
O2LH0iH| 200,000 x24E 128 57,600
203 HR=&H] 8,100 8,100
01 J|2=2gedR=a] 3,300 3,300
o= 3,300,000& 3,300
MU FAZSLRFAI 4,800 4,800 0
ORANEgE =AY 400,000& x12& 4,800




